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[ﬁg wt_records_WholeMonthOnce.py - D:\Python_projects\wi_records\wit_records_WholeMonthOnce.py (3.8.5) 57 # BEE(57) . .
X i i . 58 person left.append(sheet.cell{row=row begin-5, column=col begin+l).value)
File Edit Format Run Options Window Help 50
1 . openpyx| 60 people all.append(person left) }:I:EH ;E g %j] S‘I/_:EE/J 2 J Ef%;
2 print('got’, person left name) y J&E= Y ;Eél /% MR
3 from openpyxl.utils import get column letter, column index from string 62

tol begin = 17 # Q" - 17

“" import os - ( Z /E%EI( //%ié\ﬁ;%/—?% AE% It /pcrsonhmida]c month = get person times(row begin, col begin)

filename in = "1 ¥ 56 person middle name = sheet|'Y3'].value

8| #filename in = "6 . xlsx’ Hﬁ]] ] f//ﬂﬁ%@iE *l~§_/ 7L person middle = person middle month. »;)m( }ﬁf@ EE‘] E/JA
[7»{ 7a /=' ) 8 person middle.insert(0, person middle name) “-'I Faﬁ N

10/wb = openpyx!.load workbook(f1lename 1]'1

#print(wb.worksheets[4].cell(row=12, column=1).value)

#print(wh.worksheets[4]]'A12' ].value) .on m]dd]c append( sheet.cell(row=row begin-5, column=col begin+7).value)

F (4 T)

14| header 1 = [wh.worksheets[4].cell =12+1, col =1).value for 1 1n range(3l] .
15 hzidzg 7= L:ddt;?r]i;;}[’g I.cell(row=12+1 olumn=1).value ! range(31)] pcrson middle.append(sheet.cell{row=row begin-5, column=col begin+8).value)
16| header = [] 4

i in range(31): )EEE%E;% COIUmn .\ \Ecl_)plclii]]:&DD:CHQ(DEY:}'OH r.nidfi]:c)

18 " header. append (header ]| 1) rint{ 'got', person middle name)

19 header.append(header 2[1]) =T — = 42 . . - .

20| header.insert(0, ' ) gzzﬁ/—l—\ E/\] %¢E\E 78| col begin = 32 4 'AF' -> 32 ) _ ) ~
21| header.append( ) s 7K 79 person right month = get person times{row begin, col begin)

221 header.append( "EEF (45 ") &0

11 = e 31

L7 — == Th 31 person right name = sheet| AN3'|.value

24 get block llmc'(»[(ipcr;on row. col. days): ZE%K |\ \ bIOCk person right = person right month.copy() }ﬁ)ﬁ = SES

£J for 1 in range(days erson right.insert(0, person right name) E E § \
,“" pos TOW = TOW + ] P P v 2 E

2 pos col = col —+

‘,\ EEE""E]dEch?(:h‘iﬂ cell(row=pos row, column=pos col).value) | E}E Hﬂ' FEﬁ cappend(sheet.cell{row=row begin-5, column=col begin+7).value)
oo - -~ . . o T o w7 # (4

';‘- person.append(sheet. cell(row=pos row, column=pos col).value) f }jI H:l: Fﬁ BE pcrson r]ﬂhl,appcnd(shcﬂ,cc]](mw:row begin-5, column=col begin+¥).value)
32| #employee name = sheet| 'J3" |.value # J3(L) ; Y3(M) ; AN3(R) _-r B o .

3 90 people all.append(person right)

#

:*; # weekday & dummy weekend

: lel get person times(row begin, col begin): /IE?)E lE EE A ﬁ l I |§jl eople all.insert(0, header)

‘ Ecrmn =11 /_,_ ., peop + o I: .
38 row = row begin ]: /E 7 J:% 1}1% J5|# generate new workbook ]I:I__l'nvl_,\;:]E } EHQ E/J -ILI"IA\\IA%):[ excel fle
39 col = col begin H Ybhlwbh out = L)Dcnm\] Workbook() # Create 4 nk workbook

rint{ 'got', person right name) /

.-'|I

40 get block times(person. row., col. 31) /| sheet out = wb out.active
41 relurn person & sheet out. L1Llc = 'wt
43| people all = 00 co] index =1

44 “b/:/;r_ﬁ?l\_kh}ﬂ EEF sheet F?lﬁ;ZAfE}EﬂEAII:HijJiE lggﬁ 3 /\ for people in people all

45 sheet

B e ShE . BTEFTARNEE

record n people

It - Z 12 #14 £ 12-> 4 . 14-> weekday o .
; row bgg]n ]) ,,“l T ] > whole mij : ]4 - “ﬁ;"q y only e 104 sheet out.cell(row=row index, column=col index).value = record
o col begin =2 # 2(L) ; "0° -> 17(M) 1 "AF' -> 32(R) EAE/JH:IIED 7|4 103 row index = row index + I

9 person left month = get person times(row begin, col begin) tT :

nln Ln e

0 - _-'_"__ col index = col index + 1 vy}
1 person left name = sheet|'J3'].value = 3 AE@%? 10 W . %* %DlAW E,jmﬁ“

2 person left = person left month.copy() }EAWZEE 10%| basename tmp 0s. Dd[h bdscndmc(fllcndmc 11'1

R 100 S e ame # 27 ¢
person left.insert(0, person left name) LU filename (mp HEF] ), RS
1)

tmp3 '+ basename (mp #

Ln

HEF] (20 111{wb out.save(filename tmp) # Save the workbook.
person left.aopendi sheet.cell(row=row begin-5. column=col begin+7).value) 112

LaLa

Ln



_& handle_985_Apy - D\Python_projects\wt_records\handle_985_A.py (3.8.5) g? éE”f“ﬁeim 3 # YH— EBEHIEF;%%&E;Z E;g‘fu)mn)
a2 person_left_add = get_person_times{row_begin, col_begin)
File Edit Fgrmat Run Opt\ons Window HEIP 83 for i, time_add in enumeratefperson_left add)
1l import openpyxl # FEcommand 1inei88 FHpip install openpyxl Recds a4 if tine “add
2| fron openpyxl utlls 1m ort get cnlumn letter, column_index_from_string # EEEF a5 person_left month[i] = time_add
3| inport os # HE Eé 86 # WHEU\-*EIE&EU@/(&EIIS A8
4 a7 perzon_left_name = sheet[']J3'] value
S| filevame_in = 1'l_¥RERTE xlox' # BIEFEITOMEE iSRS =T xaxiE R a2 person_left = person_left_month.copy()
g wh = openpyx] load_workbook(filename_in) # ﬁfﬁfﬁ%i‘sﬁﬂ’]xlsx%ﬁ)\ a9 pe}rgg%%égggéj@grsg#%ﬁggg)
a0 # IRER T
o # SERERIT AT e S T Ehiataa il ag - 91 #person_left append({sheet .celli row=row_begin-5, columm=col_begint?).value
i} pp ; g Zint7). !
o| # MMAIZ-Ai2ET ERTEH, T/ o — 8 AR A8 1 L THE 9z #person_left appendishest . celll rou=row hezin- 5 colunm=cal begintd ) value
i Ve . 2 Zintd ). 1
10] header_0 = [wh. wnrksheets[4] cell{row=12+1, calumn=1} value for 1 in range(31)] 03 # ﬁi;ﬁﬂ-gg}&% &*Dﬂgﬁ}ﬁj}ugﬂﬁ)\&ﬁ%f
%é Paadsr =1 header 0 a4 person_left. append(count)
13 o hatz Ln hea ;EE I a5 person_left. ar%pend time
14 h::d:i :gg:zd(d:t FUTF 96 # A LR S S TR
15| header insert(D, 'HE') ¢ EEEMEMEMEN L E H oy peoale sl appendlperson left)
15| header append¢ EEI(S0)") # 4 AA) BRAE S EINE B ) Rl print{got’, person_left nane)
17 headex appenc(’ BEIA ) ¥ Remmin Rl iy N 4o REEET
- chpsg
10] def get_block_times(person, row, col, days): %gé ro\if_gegin - i% # 17
20 col_hegin = -
%é Fexcelq:jﬁgglgﬁu‘ﬁgﬁgaﬁg’jﬁ;ﬁg‘g%ﬁ)\persgn_ %gi person_middle_month = get_person_times(row_hegin, col_begin)
t
23 ﬁpuparson: B S THHREIHE =t TS EE) 105 count, time = work_lag({person_middle_month}
24 Tom AR TR AT b A rowEE AR 106
mE o,
ays: R E col_begin = 17 +
27 Y 109 person_middle_add = get_person_times{row_begin, col_begin)
%g for i in ranga(dayi) s 01,23, ) 110 for i, time_add in enumerate(person_middle arlrl)
pOS_TOW = IO + 1 # IO 11 if time add:
g? ggisgﬁla;pgﬁd(shaet cell{row=pos_row, column=pos_col ). value) 1z person_middle_mnnth[i] = tine_add
32 pos_col = col + 2 # —Fiﬁf&ﬁfﬂiﬂfﬁ#% iR — {@exte (L Hi p:ggz—m;gg%:‘Eam:rzoih;?&élggmgﬁ\{%1§§ 0
33 person _append{sheet .cell{row=pos_row, column=pos_col ) value) p — s P - fomLh.Copy
£ Hg person_m;gg%e.lnserégﬂ, pe;son_mlddle_name)
: : S person_middle appendicount
gg def gg}_parson_tlmes(row_begm, col_begin}: 117 person_middle append( tine)
37| EEE—STHR(—ER LTS Hel o peapleall sppend(person niddle)
a0 Trput print{'zot', person_middle_name )
23 row_hegin: B—SIx AR ronERE 120 .
an colThegin'  E—5 T E R iBTAIco lunnEEAE 2 #E'EﬁW?I_"
41 Output IoW_begin =
42 .., person: B ST @A THEEEINER (1ist) 123 col_hegin = 32 # 'AF' -» 32

43 124 person_right_month = get_person_times(row_begin, col_begin)
44 person = [] /f E A Eyf I{ /?ié\ ﬁ-% 125
45 10w = row_begin f 126 count, time = work_lagi{person_right_month)
46 cal = col_begin / N /12 127

47 get_block_times{person, row, col, 31) 128 row_begin = 12

ig TEtIT peTEOn l ’7/‘7 /—\/:Eﬂﬁ% 129 col_hegin = 32 + 9
130 person_right_add = get_person_times{row_begin, col_hegin)
501 def work_lagipersom_raw): E’ 5 e = 131 for 1, tine_add in enumerats(person. right_add ):

2 132 if tine add:

52 BT EER L SFLER A T SRR SRR R \ o 133 hi month N a
gi I -0 ¥ ﬁﬂﬂﬁm%ﬁigﬁﬁ& iﬂ%ﬁﬂgf%/&gfﬂﬁ :7L 134 peTrsan, r?:}:?ozanﬁég— sﬂggt[[;\PlB 1. \1’2?62
o = Vraa=i 135 person_right = person_right_month.copy( )

55 work_on_lag_count = 0 # iEF]

56 work_on_lag_tine = O # iE?JJ}}ﬁ %gg DETSUHZUQE" IHSETE(U person_right_name)
57 for time in person_raw|[:: CIRR3R | HIEERE Pl FHERRS person_right append(count )
58 if time: # %%m%fﬁ#.‘%ﬁﬁ,f#ﬂ%%a-éﬂ None ) 138 person_right append(time)
59 if ot oin time: # MERRETLER SEEp e EE " 129 people_all.append{person_right)
E? wgrkTon += 68#36‘:1%;55 J:}J_EB%F%&?%SSE #IEIETE AP %i? print{'got', person_right_name}

if time = ! , HE=EX . i = J—
] work_on_lag_count += | 142| people_all .insert(0, header) # WEFFETRVEIIA £HE T R EiEESRE0E
a3 hour, minute = time_split(':') 143
a4 minutes = int(howr) * 60 + 1nt(mmute) 144 # --- 45 FEEIRFAL RS THEET e 1163 ---
Eg minttes T minutes - (B¥60+30) 145 # generate new workbook

wark_on_lag_time += minutes 146 wh_out = 1 Warkbaok{) # Creat hlank khook.

a7 return (work_on_lag_count, work_on_lag_time) 147 ghgg%_outozexggut_:étisg 0 fERlE A hiamk workbeo
%g people_all = [] # EHITSEARS TAOMEES o gQTEfﬁggi-y;le = twt
71 for sheet in wb workshests[d:]: # ik BB Eepreadshes tRELSER TS T _F THIRFRY g? for gzﬁp}:déz ge?ple all:
;g ﬁ éigg Id %--Wﬁﬁ@)\ﬂiﬁ%ﬂf 152 for record in people:
7 Tow_begin fp{aa ¥ %_E&yﬁFﬁmtkAE# Crow) 153 sheet_out.cell{row=row_index, column=col_index).value = record
T coltesin=2 #xf- SESIGRIHELER (ol 2 | Tonindex < rou index + 1
6 person_left_month = et person_times(row_hegin, col_begin) # MESEH L% 15| b G0l _1ndex = oo —12 EX + fil .
77 # =mitE _E}J}_E‘jﬂélj)\ | R asemane_tnp = 0s.path.basename(filename_in)
8 157 filename_tmp = 'tmp2E54_" + basename_tmp

bris} # ;Rgiélmg’];]uﬂféﬁ?jfgju]\rson left mnnth) 158 wh_out zave(filename_tmp) # Zave the workbook.
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